

## **Summary of Bids Received**

Fairfield Road Resurfacing (IL176 to Old McHenry) Project:

CPMS Pin:

B-01706

Section: 22-00113-19-RS Let Date:

16-Apr-24

Description:

Culvert replacement, guardrail replacement, pavement milling, pavement patching, HMA binder and

surface course, pavement marking and other related work.

				% Over/Under	\$ Over/Under
Bidder	Address	City, State, Zip	Bid Price	Eng. Estimate	Eng. Estimate
Peter Baker & Son Company	1349 Rockland Road	Lake Bluff, IL, 60044	\$2,396,677.63	-39.32%	-\$1,553,016.70
J. A. Johnson Paving	1025 East Addison Court	Arlington Heights, IL, 60005	\$3,024,437.06	-23.43%	-\$925,257.27
Builders Paving, LLC	4401 Roosevelt Road	Hillside, Illinois, 60162	\$3,029,808.00	-23.29%	-\$919,886.33
		Engineer's Estimate:	\$3,949,694.33		



## **Return Bid Tabulation**

CPMS Pin:

Let Date:

B-01706

16-Apr-24

Project: Fairfield Road Resurfacing (IL176 to Old McHenry)

22-00113-19-RS Section:

Culvert replacement, guardrail replacement, pavement milling, pavement patching, HMA binder and surface Description:

course, pavement marking and other related work.

Item No.	Pay Code	le Description		Unit	Eng Unit Price		Peter Baker & Son Company		J. A. Johnson Paving		Builders Pa	aving, LLC
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20800150	TRENCH BACKFILL	80.3	CU YD	\$75.00	\$6,022.50	\$23.00	\$1,846.90	\$23.00	\$1,846.90	\$30.00	\$2,409.00
2	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	9,189.2	SQ YD	\$5.00	\$45,946.00	\$0.10	\$918.92	\$5.00	\$45,946.00	\$0.15	\$1,378.38
3	21101615	TOPSOIL FURNISH AND PLACE, 4"	220.2	SQ YD	\$10.00	\$2,202.00	\$6.00	\$1,321.20	\$4.50	\$990.90	\$8.00	\$1,761.60
4	21400100	GRADING AND SHAPING DITCHES	345.6	FOOT	\$25.00	\$8,640.00	\$40.00	\$13,824.00	\$15.00	\$5,184.00	\$70.00	\$24,192.00
5	28100109	STONE RIPRAP, CLASS A5	17.2	SQ YD	\$250.00	\$4,300.00	\$236.00	\$4,059.20	\$485.00	\$8,342.00	\$500.00	\$8,600.00
6	28200200	FILTER FABRIC	78.8	SQ YD	\$15.00	\$1,182.00	\$2.00	\$157.60	\$22.00	\$1,733.60	\$35.00	\$2,758.00
7	35101800	AGGREGATE BASE COURSE, TYPE B 6"	323.9	SQ YD	\$45.00	\$14,575.50	\$11.00	\$3,562.90	\$23.00	\$7,449.70	\$35.00	\$11,336.50
8	40600290	BITUMINOUS MATERIALS (TACK COAT)	94,134.0	POUND	\$0.01	\$941.34	\$0.01	\$941.34	\$0.01	\$941.34	\$0.05	\$4,706.70
9	40600370	LONGITUDINAL JOINT SEALANT	22,281.8	FOOT	\$4.00	\$89,127.20	\$3.23	\$71,970.21	\$2.42	\$53,921.96	\$3.25	\$72,415.85
10	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10.0	TON	\$300.00	\$3,000.00	\$75.00	\$750.00	\$75.00	\$750.00	\$750.00	\$7,500.00
11	40600990	TEMPORARY RAMP	279.7	SQ YD	\$25.00	\$6,992.50	\$1.00	\$279.70	\$12.00	\$3,356.40	\$50.00	\$13,985.00
12	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	3,940.9	TON	\$110.00	\$433,499.00	\$71.35	\$281,183.22	\$92.00	\$362,562.80	\$75.00	\$295,567.50
13	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	3,346.2	TON	\$115.00	\$384,813.00	\$87.00	\$291,119.40	\$107.00	\$358,043.40	\$91.00	\$304,504.20
14	40604062	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N70	7,993.5	TON	\$120.00	\$959,220.00	\$69.10	\$552,350.85	\$91.00	\$727,408.50	\$81.00	\$647,473.50
15	42001300	PROTECTIVE COAT	80.5	SQ YD	\$10.00	\$805.00	\$1.00	\$80.50	\$1.00	\$80.50	\$1.00	\$80.50
16	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	64,906.8	SQ YD	\$4.00	\$259,627.20	\$2.85	\$184,984.38	\$3.50	\$227,173.80	\$2.00	\$129,813.60
17	44000500	COMBINATION CURB AND GUTTER REMOVAL	109.8	FOOT	\$25.00	\$2,745.00	\$45.00	\$4,941.00	\$45.00	\$4,941.00	\$50.00	\$5,490.00
18	44201773	CLASS D PATCHES, TYPE I, 11 INCH	475.1	SQ YD	\$110.00	\$52,261.00	\$35.00	\$16,628.50	\$18.00	\$8,551.80	\$135.00	\$64,138.50
19	44201777	CLASS D PATCHES, TYPE II, 11 INCH	712.7	SQ YD	\$110.00	\$78,397.00	\$35.00	\$24,944.50	\$18.00	\$12,828.60	\$125.00	\$89,087.50
20	44201781	CLASS D PATCHES, TYPE III, 11 INCH	2,138.1	SQ YD	\$110.00	\$235,191.00	\$35.00	\$74,833.50	\$18.00	\$38,485.80	\$50.00	\$106,905.00
21	44201783	CLASS D PATCHES, TYPE IV, 11 INCH	1,425.4	SQ YD	\$110.00	\$156,794.00	\$35.00	\$49,889.00	\$18.00	\$25,657.20	\$45.00	\$64,143.00
22	48101200	AGGREGATE SHOULDERS, TYPE B	1,027.2	TON	\$50.00	\$51,360.00	\$25.00	\$25,680.00	\$40.00	\$41,088.00	\$45.00	\$46,224.00
23	50105220	PIPE CULVERT REMOVAL	140.7	FOOT	\$40.00	\$5,628.00	\$26.00	\$3,658.20	\$50.00	\$7,035.00	\$55.00	\$7,738.50
24	54213663	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 18"	1.0	EACH	\$3,200.00	\$3,200.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,600.00	\$4,600.00
25	54213669	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24"	4.0	EACH	\$3,500.00	\$14,000.00	\$4,700.00	\$18,800.00	\$4,800.00	\$19,200.00	\$5,000.00	\$20,000.00
26	542A0229	PIPE CULVERTS, CLASS A, TYPE 1 24"	88.0	FOOT	\$250.00	\$22,000.00	\$212.00	\$18,656.00	\$350.00	\$30,800.00	\$360.00	\$31,680.00
27	550A0090	STORM SEWERS, CLASS A, TYPE 1 18"	72.0	FOOT	\$200.00	\$14,400.00	\$145.00	\$10,440.00	\$340.00	\$24,480.00	\$350.00	\$25,200.00
28	55100900	STORM SEWER REMOVAL 18"	75.0	FOOT	\$30.00	\$2,250.00	\$27.00	\$2,025.00	\$50.00	\$3,750.00	\$55.00	\$4,125.00
29	60207605	CATCH BASINS, TYPE C, TYPE 8 GRATE	1.0	EACH	\$4,000.00	\$4,000.00	\$7,000.00	\$7,000.00	\$4,800.00	\$4,800.00	\$5,000.00	\$5,000.00
00	00005400	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	400.0	FOOT	<b>#75.00</b>	#0.00F.00	¢400.00	¢40,000,00	¢400.00	¢40,000,00	Ć440.00	642.070.00
30	60605100	(ABUTTING EXISTING PAVEMENT)	109.8	FOOT	\$75.00	\$8,235.00	\$100.00	\$10,980.00	\$100.00	\$10,980.00	\$110.00	\$12,078.00
31	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	401.7	FOOT	\$40.00	\$16,068.00	\$37.98	\$15,256.57	\$38.00	\$15,264.60	\$37.98	\$15,256.57
32	63100167	,	1.0	EACH	\$3,500.00	\$3,500.00	\$3,780.00	\$3,780.00	\$3,800.00	\$3,800.00	\$3,780.00	\$3,780.00
33	63100169	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) FLARED	2.0	EACH	\$3,500.00	\$7,000.00	\$3,640.00	\$7,280.00	\$3,700.00	\$7,400.00	\$3,640.00	\$7,280.00
34	64200108	SHOULDER RUMBLE STRIPS, 8 INCH	27,832.3	FOOT	\$2.00	\$55,664.60	\$0.87	\$24,214.10	\$0.25	\$6,958.08	\$0.20	\$5,566.46
35	67100100	MOBILIZATION SHORT TERM PAYEMENT MARKING	1.0	L SUM	\$216,400.00	\$216,400.00	\$146,951.00	\$146,951.00	\$181,484.62	\$181,484.62	\$297,000.00	\$297,000.00
36	70300100	SHORT TERM PAVEMENT MARKING	22,762.7	FOOT	\$1.00	\$22,762.70	\$0.01	\$227.63	\$0.01	\$227.63	\$0.10	\$2,276.27
37	70300211	TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS - PAINT	344.1	SQ FT	\$2.00	\$688.20	\$0.01	\$3.44	\$0.01	\$3.44	\$0.01	\$3.44
38	70300221	TEMPORARY PAVEMENT MARKING - LINE 4"- PAINT	40,352.1	FOOT	\$0.45	\$18,158.45	\$0.01	\$403.52	\$0.01	\$403.52	\$0.01	\$403.52
39	70300231	TEMPORARY PAVEMENT MARKING - LINE 5"- PAINT	34,754.2	FOOT	\$0.50	\$17,377.10	\$0.01	\$347.54	\$0.01	\$347.54	\$0.01	\$347.54

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Peter Baker & S	on Company	J. A. Johnson Paving		Builders Paving, LLC	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
40	70300241	TEMPORARY PAVEMENT MARKING - LINE 6"- PAINT	1,643.8	FOOT	\$0.70	\$1,150.66	\$0.01	\$16.44	\$0.01	\$16.44	\$0.01	\$16.4
41	70300251	TEMPORARY PAVEMENT MARKING - LINE 8"- PAINT	766.6	FOOT	\$1.00	\$766.60	\$0.01	\$7.67	\$0.01	\$7.67	\$0.01	\$7.6
42	70300261	TEMPORARY PAVEMENT MARKING - LINE 12"- PAINT	1,924.2	FOOT	\$1.35	\$2,597.67	\$0.01	\$19.24	\$0.01	\$19.24	\$0.01	\$19.24
43	70300281	TEMPORARY PAVEMENT MARKING - LINE 24"- PAINT	66.2	FOOT	\$2.70	\$178.74	\$0.01	\$0.66	\$0.01	\$0.66	\$0.01	\$0.66
44	70307120	TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE IV TAPE	6,408.9	FOOT	\$1.25	\$8,011.13	\$0.01	\$64.09	\$0.01	\$64.09	\$0.25	\$1,602.23
45	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	344.1	SQ FT	\$5.50	\$1,892.55	\$4.65	\$1,600.07	\$4.65	\$1,600.07	\$4.75	\$1,634.48
46	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	40.352.1	FOOT	\$1.20	\$48,422.52	\$0.65	\$26,228.87	\$0.65	\$26,228.87	\$0.75	\$30,264.08
47	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	34,754.2	FOOT	\$1.50	\$52,131.30	\$0.70	\$24,327.94	\$0.70	\$24,327.94	\$0.75	\$26,065.65
48	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	1,643.8	FOOT	\$1.85	\$3,041.03	\$0.85	\$1,397.23	\$0.85	\$1,397.23	\$0.90	\$1,479.42
49	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	766.6	FOOT	\$2.00	\$1,533.20	\$1.95	\$1,494.87	\$1.95	\$1,494.87	\$2.00	\$1,533.20
50	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,924.2	FOOT	\$3.50	\$6,734.70	\$2.05	\$3,944.61	\$2.05	\$3,944.61	\$2.10	\$4,040.82
51	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	66.2	FOOT	\$7.50	\$496.50	\$4.65	\$307.83	\$4.65	\$307.83	\$4.75	\$314.45
52	78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	180.0	FOOT	\$5.00	\$900.00	\$14.00	\$2,520.00	\$14.00	\$2,520.00	\$15.00	\$2,700.00
		GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS										
53	78011000		344.1	SQ FT	\$5.00	\$1,720.50	\$2.75	\$946.28	\$2.75	\$946.28	\$2.80	\$963.48
54	78011025	GROOVING FOR RECESSED PAVEMENT MARKING 5"	40,352.1	FOOT	\$0.40	\$16,140.84	\$0.35	\$14,123.24	\$0.35	\$14,123.24	\$0.40	\$16,140.84
55	78011030	GROOVING FOR RECESSED PAVEMENT MARKING 6"	34,754.2	FOOT	\$0.60	\$20,852.52	\$0.40	\$13,901.68	\$0.40	\$13,901.68	\$0.50	\$17,377.10
56	78011035	GROOVING FOR RECESSED PAVEMENT MARKING 7"	1,643.8	FOOT	\$0.75	\$1,232.85	\$0.65	\$1,068.47	\$0.65	\$1,068.47	\$0.75	\$1,232.85
57	78011045	GROOVING FOR RECESSED PAVEMENT MARKING 9"	766.6	FOOT	\$0.90	\$689.94	\$0.85	\$651.61	\$0.85	\$651.61	\$1.00	\$766.60
58	78011065	GROOVING FOR RECESSED PAVEMENT MARKING 13"	1,924.2	FOOT	\$1.75	\$3,367.35	\$1.65	\$3,174.93	\$1.65	\$3,174.93	\$1.75	\$3,367.35
59	78011125	GROOVING FOR RECESSED PAVEMENT MARKING 25"	66.2	FOOT	\$3.00	\$198.60	\$2.85	\$188.67	\$2.85	\$188.67	\$3.00	\$198.60
60	LC200051	REJECTED LOAD TRANSPORTATION	1.0	LOAD	\$500.00	\$500.00	\$100.00	\$100.00	\$150.00	\$150.00	\$1,250.00	\$1,250.00
61	LC200052	EXCAVATING EXISTING SHOULDER	265.8	UNIT	\$600.00	\$159,480.00	\$423.15	\$112,473.27	\$360.00	\$95,688.00	\$350.00	\$93,030.00
62	LC200452	SEEDING, SPECIAL II	1,204.0	SQ FT	\$3.00	\$3,612.00	\$0.50	\$602.00	\$0.25	\$301.00	\$0.75	\$903.00
63	LC200453	SEEDING, SPECIAL III	1,186.8	SQ FT	\$3.00	\$3,560.40	\$0.50	\$593.40	\$0.25	\$296.70	\$0.75	\$890.10
64	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	17,318.0	UNIT	\$1.00	\$17,318.00	\$1.00	\$17,318.00	\$1.00	\$17,318.00	\$1.00	\$17,318.00
65	LC400161	LEVELING BINDER (HAND METHOD), N70	5.0	TON	\$110.00	\$550.00	\$75.00	\$375.00	\$250.00	\$1,250.00	\$400.00	\$2,000.00
66	LC400202	SEAL COAT	1,019.4	SQ YD	\$15.00	\$15,291.00	\$6.77	\$6,901.34	\$3.75	\$3,822.75	\$4.00	\$4,077.60
67	LC500230	GRATING FOR CONCRETE FLARED END SECTION 24"	4.0	EACH	\$950.00	\$3,800.00	\$600.00	\$2,400.00	\$700.00	\$2,800.00	\$750.00	\$3,000.00
68	LC600103	TRAFFIC BARRIER TERMINAL, TYPE 1, SPECIAL (RADIAL)	1.0	EACH	\$4,500.00	\$4,500.00	\$3,881.00	\$3,881.00	\$3,900.00	\$3,900.00	\$5,000.00	\$5,000.00
69	LC600200	INSTALL SURVEY MONUMENTS	10.0	EACH	\$650.00	\$6,500.00	\$450.00	\$4,500.00	\$1,500.00	\$15,000.00	\$800.00	\$8,000.00
70	LC782000	GUARDRAIL REFLECTORS	12.0	EACH	\$15.00	\$180.00	\$10.00	\$120.00	\$10.00	\$120.00	\$15.00	\$180.00
71	X0326898	CENTER LINE - RUMBLE STRIP - 16"	12,029.5	FOOT	\$1.50	\$18,044.25	\$0.81	\$9,743.90	\$0.25	\$3,007.38	\$0.35	\$4,210.33
72	X0426200	DEWATERING	1.0	L SUM	\$20,000.00	\$20,000.00	\$16,000.00	\$16,000.00	\$10,000.00	\$10,000.00	\$16,000.00	\$16,000.00
73	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	382.1	SQ YD	\$8.00	\$3,056.80	\$2.95	\$1,127.20	\$7.50	\$2,865.75	\$4.50	\$1,719.45
74	X5427601	REMOVE AND RELAY END SECTIONS	2.0	EACH	\$2,000.00	\$4,000.00	\$4,000.00	\$8,000.00	\$3,200.00	\$6,400.00	\$3,500.00	\$7,000.00
75	X6050700	REMOVE INLET BOX	1.0	EACH	\$500.00	\$500.00	\$500.00	\$500.00	\$485.00	\$485.00	\$750.00	\$750.00
76	X6320100	GUARDRAIL REMOVAL (SPECIAL)	401.7	FOOT	\$30.00	\$12,051.00	\$10.24	\$4,113.41	\$11.00	\$4,418.70	\$13.00	\$5,222.10
77	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	6.0	CAL MO	\$3,500.00	\$21,000.00	\$1,000.00	\$6,000.00	\$2,800.00	\$16,800.00	\$3,500.00	\$21,000.00
78	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$126,200.00	\$126,200.00	\$125,325.00	\$125,325.00	\$390,000.00	\$390,000.00	\$290,872.98	\$290,872.98
79	X7800815	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	24,900.9	FOOT	\$1.00	\$24,900.90	\$0.40	\$9,960.36	\$0.40	\$9,960.36	\$0.40	\$9,960.36
80	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	111.0	EACH	\$60.00	\$6,660.00	\$65.00	\$7,215.00	\$65.00	\$7,215.00	\$75.00	\$8,325.00
81	X8860105	DETECTOR LOOP REPLACEMENT	509.5	FOOT	\$30.00	\$15,285.00	\$52.00	\$26,494.00	\$17.00	\$8,661.50	\$20.00	\$10,190.00
82	XX000856	MAILBOX REMOVAL AND RELOCATION	5.0	EACH	\$200.00	\$1,000.00	\$205.00	\$1,025.00	\$150.00	\$750.00	\$500.00	\$2,500.00
83	XX006343	SEEDING (COMPLETE)	9,189.2	SQ YD	\$8.00	\$73,513.60	\$5.75	\$52,837.90	\$7.25	\$66,621.70	\$6.00	\$55,135.20
84	XX009142	PAVEMENT MARKING REMOVAL (SPECIAL)	6,408.9	SQ FT	\$1.00	\$6,408.90	\$0.30	\$1,922.67	\$0.25	\$1,602.23	\$0.35	\$2,243.12
85	XX206400	MAILBOX POST	5.0	EACH	\$150.00	\$750.00	\$75.00	\$375.00	\$60.00	\$300.00	\$500.00	\$2,500.00
					Total	\$3,949,694.33		\$2,396,677.63		\$3,024,437.06		\$3,029,808.00



## **Return Bid Details**

CPMS Pin:

Let Date:

B-01706

16-Apr-24

Project: Fairfield Road Resurfacing (IL176 to Old McHenry)

**Section:** 22-00113-19-RS

Culvert replacement, guardrail replacement, pavement milling, pavement patching, HMA binder and surface course,

Description: pavement marking and other related work.

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			
1	20800150	TRENCH BACKFILL	80.3	CU YD	\$75.00	\$6,022.50	\$23.00	\$30.00	\$25.33
2	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	9189.2	SQ YD	\$5.00	\$45,946.00	\$0.10	\$5.00	\$1.75
3	21101615	TOPSOIL FURNISH AND PLACE, 4"	220.2	SQ YD	\$10.00	\$2,202.00	\$4.50	\$8.00	\$6.17
4	21400100	GRADING AND SHAPING DITCHES	345.6	FOOT	\$25.00	\$8,640.00	\$15.00	\$70.00	\$41.67
5	28100109	STONE RIPRAP, CLASS A5	17.2	SQ YD	\$250.00	\$4,300.00	\$236.00	\$500.00	\$407.00
6	28200200	FILTER FABRIC	78.8	SQ YD	\$15.00	\$1,182.00	\$2.00	\$35.00	\$19.67
7	35101800	AGGREGATE BASE COURSE, TYPE B 6"	323.9	SQ YD	\$45.00	\$14,575.50	\$11.00	\$35.00	\$23.00
8	40600290	BITUMINOUS MATERIALS (TACK COAT)	94134.0	POUND	\$0.01	\$941.34	\$0.01	\$0.05	\$0.02
9	40600370	LONGITUDINAL JOINT SEALANT	22281.8	FOOT	\$4.00	\$89,127.20	\$2.42	\$3.25	\$2.97
10	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10.0	TON	\$300.00	\$3,000.00	\$75.00	\$750.00	\$300.00
11	40600990	TEMPORARY RAMP	279.7	SQ YD	\$25.00	\$6,992.50	\$1.00	\$50.00	\$21.00
12	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	3940.9	TON	\$110.00	\$433,499.00	\$71.35	\$92.00	\$79.45
13	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	3346.2	TON	\$115.00	\$384,813.00	\$87.00	\$107.00	\$95.00
14	40604062	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N70	7993.5	TON	\$120.00	\$959,220.00	\$69.10	\$91.00	\$80.37
15	42001300	PROTECTIVE COAT	80.5	SQ YD	\$10.00	\$805.00	\$1.00	\$1.00	\$1.00
16	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	64906.8	SQ YD	\$4.00	\$259,627.20	\$2.00	\$3.50	\$2.78
17	44000500	COMBINATION CURB AND GUTTER REMOVAL	109.8	FOOT	\$25.00	\$2,745.00	\$45.00	\$50.00	\$46.67
18	44201773	CLASS D PATCHES, TYPE I, 11 INCH	475.1	SQ YD	\$110.00	\$52,261.00	\$18.00	\$135.00	\$62.67
19	44201777	CLASS D PATCHES, TYPE II, 11 INCH	712.7	SQ YD	\$110.00	\$78,397.00	\$18.00	\$125.00	\$59.33
20	44201777	CLASS D PATCHES, TYPE III, 11 INCH	2138.1	SQ YD	\$110.00	\$235,191.00	\$18.00	\$50.00	\$34.33
21	44201781	CLASS D PATCHES, TYPE IV, 11 INCH	1425.4	SQ YD	\$110.00	\$156,794.00	\$18.00	\$45.00	\$34.33 \$32.67
		AGGREGATE SHOULDERS, TYPE B							
22	48101200	PIPE CULVERT REMOVAL	1027.2	TON FOOT	\$50.00	\$51,360.00	\$25.00	\$45.00	\$36.67
23	50105220	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 18"	140.7		\$40.00	\$5,628.00	\$26.00	\$55.00	\$43.67
24	54213663		1.0	EACH	\$3,200.00	\$3,200.00	\$4,500.00	\$4,600.00	\$4,533.33
25	54213669	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24"	4.0	EACH	\$3,500.00	\$14,000.00	\$4,700.00	\$5,000.00	\$4,833.33
26	542A0229	PIPE CULVERTS, CLASS A, TYPE 1 24"	88.0	FOOT	\$250.00	\$22,000.00	\$212.00	\$360.00	\$307.33
27	550A0090	STORM SEWERS, CLASS A, TYPE 1 18"	72.0	FOOT	\$200.00	\$14,400.00	\$145.00	\$350.00	\$278.33
28	55100900	STORM SEWER REMOVAL 18"	75.0	FOOT	\$30.00	\$2,250.00	\$27.00	\$55.00	\$44.00
29	60207605	CATCH BASINS, TYPE C, TYPE 8 GRATE COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	1.0	EACH	\$4,000.00	\$4,000.00	\$4,800.00	\$7,000.00	\$5,600.00
30	60605100	(ABUTTING EXISTING PAVEMENT)	109.8	FOOT	\$75.00	\$8,235.00	\$100.00	\$110.00	\$103.33
31	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	401.7	FOOT	\$40.00	\$16,068.00	\$37.98	\$38.00	\$37.99
32	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	1.0	EACH	\$3,500.00	\$3,500.00			\$37.99
33	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) FLARED	2.0	EACH	\$3,500.00	\$3,500.00	\$3,780.00 \$3,640.00	\$3,800.00 \$3,700.00	\$3,786.67
33 34	64200108	SHOULDER RUMBLE STRIPS, 8 INCH	27832.3	FOOT	\$3,500.00		\$3,640.00	\$3,700.00	
		MOBILIZATION				\$55,664.60			\$0.44
35	67100100		1.0	L SUM	\$216,400.00	\$216,400.00	\$146,951.00	\$297,000.00	\$208,478.54
36	70300100	SHORT TERM PAVEMENT MARKING	22762.7	FOOT	\$1.00	\$22,762.70	\$0.01	\$0.10	\$0.04
37	70300211	TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS - PAINT	344.1	SQ FT	\$2.00	\$688.20	\$0.01	\$0.01	\$0.01
38	70300211	TEMPORARY PAVEMENT MARKING - LINE 4"- PAINT	40352.1	FOOT	\$0.45	\$18,158.45	\$0.01	\$0.01	\$0.01
39	70300221	TEMPORARY PAVEMENT MARKING - LINE 5"- PAINT	34754.2	FOOT	\$0.50	\$17,377.10	\$0.01	\$0.01	\$0.01
40	70300231	TEMPORARY PAVEMENT MARKING - LINE 6"- PAINT	1643.8	FOOT	\$0.70	\$1,150.66	\$0.01	\$0.01	\$0.01
41	70300241	TEMPORARY PAVEMENT MARKING - LINE 8"- PAINT	766.6	FOOT	\$1.00	\$7,150.00	\$0.01	\$0.01	\$0.01
41	70300251	TEMPORARY PAVEMENT MARKING - LINE 12"- PAINT	1924.2	FOOT	\$1.00 \$1.35	\$2,597.67	\$0.01	\$0.01	\$0.01 \$0.01
		TEMPORARY PAVEMENT MARKING - LINE 24"- PAINT		FOOT					
43 44	70300281 70307120	TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE IV TAPE	66.2		\$2.70	\$178.74	\$0.01	\$0.01	\$0.01
44	70307120	TEIVII OTAATI TAVEIVIENI IVIAIAMING-LIINE 4 - ITFE IV TAFE	6408.9	FOOT	\$1.25	\$8,011.13	\$0.01	\$0.25	\$0.09
45	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	344.1	SQ FT	\$5.50	\$1,892.55	\$4.65	\$4.75	\$4.68

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			
46	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	40352.1	FOOT	\$1.20	\$48,422.52	\$0.65	\$0.75	\$0.68
47	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	34754.2	FOOT	\$1.50	\$52,131.30	\$0.70	\$0.75	\$0.72
48	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	1643.8	FOOT	\$1.85	\$3,041.03	\$0.85	\$0.90	\$0.87
49	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	766.6	FOOT	\$2.00	\$1,533.20	\$1.95	\$2.00	\$1.97
50	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1924.2	FOOT	\$3.50	\$6,734.70	\$2.05	\$2.10	\$2.07
51	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	66.2	FOOT	\$7.50	\$496.50	\$4.65	\$4.75	\$4.68
52	78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	180.0	FOOT	\$5.00	\$900.00	\$14.00	\$15.00	\$14.33
		GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND							
53	78011000	SYMBOLS	344.1	SQ FT	\$5.00	\$1,720.50	\$2.75	\$2.80	\$2.77
54	78011025	GROOVING FOR RECESSED PAVEMENT MARKING 5"	40352.1	FOOT	\$0.40	\$16,140.84	\$0.35	\$0.40	\$0.37
55	78011030	GROOVING FOR RECESSED PAVEMENT MARKING 6"	34754.2	FOOT	\$0.60	\$20,852.52	\$0.40	\$0.50	\$0.43
56	78011035	GROOVING FOR RECESSED PAVEMENT MARKING 7"	1643.8	FOOT	\$0.75	\$1,232.85	\$0.65	\$0.75	\$0.68
57	78011045	GROOVING FOR RECESSED PAVEMENT MARKING 9"	766.6	FOOT	\$0.90	\$689.94	\$0.85	\$1.00	\$0.90
58	78011065	GROOVING FOR RECESSED PAVEMENT MARKING 13"	1924.2	FOOT	\$1.75	\$3,367.35	\$1.65	\$1.75	\$1.68
59	78011125	GROOVING FOR RECESSED PAVEMENT MARKING 25"	66.2	FOOT	\$3.00	\$198.60	\$2.85	\$3.00	\$2.90
60	LC200051	REJECTED LOAD TRANSPORTATION	1.0	LOAD	\$500.00	\$500.00	\$100.00	\$1,250.00	\$500.00
61	LC200052	EXCAVATING EXISTING SHOULDER	265.8	UNIT	\$600.00	\$159,480.00	\$350.00	\$423.15	\$377.72
62	LC200452	SEEDING, SPECIAL II	1204.0	SQ FT	\$3.00	\$3,612.00	\$0.25	\$0.75	\$0.50
63	LC200453	SEEDING, SPECIAL III	1186.8	SQ FT	\$3.00	\$3,560.40	\$0.25	\$0.75	\$0.50
64	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	17318.0	UNIT	\$1.00	\$17,318.00	\$1.00	\$1.00	\$1.00
65	LC400161	LEVELING BINDER (HAND METHOD), N70	5.0	TON	\$110.00	\$550.00	\$75.00	\$400.00	\$241.67
66	LC400202	SEAL COAT	1019.4	SQ YD	\$15.00	\$15,291.00	\$3.75	\$6.77	\$4.84
67	LC500230	GRATING FOR CONCRETE FLARED END SECTION 24"	4.0	EACH	\$950.00	\$3,800.00	\$600.00	\$750.00	\$683.33
68	LC600103	TRAFFIC BARRIER TERMINAL, TYPE 1, SPECIAL (RADIAL)	1.0	EACH	\$4,500.00	\$4,500.00	\$3,881.00	\$5,000.00	\$4,260.33
69	LC600200	INSTALL SURVEY MONUMENTS	10.0	EACH	\$650.00	\$6,500.00	\$450.00	\$1,500.00	\$916.67
70	LC782000	GUARDRAIL REFLECTORS	12.0	EACH	\$15.00	\$180.00	\$10.00	\$15.00	\$11.67
71	X0326898	CENTER LINE - RUMBLE STRIP - 16"	12029.5	FOOT	\$1.50	\$18,044.25	\$0.25	\$0.81	\$0.47
72	X0426200	DEWATERING	1.0	L SUM	\$20,000.00	\$20,000.00	\$10,000.00	\$16,000.00	\$14,000.00
73	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	382.1	SQ YD	\$8.00	\$3,056.80	\$2.95	\$7.50	\$4.98
74	X5427601	REMOVE AND RELAY END SECTIONS	2.0	EACH	\$2,000.00	\$4,000.00	\$3,200.00	\$4,000.00	\$3,566.67
75	X6050700	REMOVE INLET BOX	1.0	EACH	\$500.00	\$500.00	\$485.00	\$750.00	\$578.33
76	X6320100	GUARDRAIL REMOVAL (SPECIAL)	401.7	FOOT	\$30.00	\$12,051.00	\$10.24	\$13.00	\$11.41
77	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	6.0	CAL MO	\$3,500.00	\$21,000.00	\$1,000.00	\$3,500.00	\$2,433.33
78	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$126,200.00	\$126,200.00	\$125,325.00	\$390,000.00	\$268,732.66
79	X7800815	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	24900.9	FOOT	\$1.00	\$24,900.90	\$0.40	\$0.40	\$0.40
80	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	111.0	EACH	\$60.00	\$6,660.00	\$65.00	\$75.00	\$68.33
81	X8860105	DETECTOR LOOP REPLACEMENT	509.5	FOOT	\$30.00	\$15,285.00	\$17.00	\$52.00	\$29.67
82	XX000856	MAILBOX REMOVAL AND RELOCATION	5.0	EACH	\$200.00	\$1,000.00	\$150.00	\$500.00	\$285.00
83	XX006343	SEEDING (COMPLETE)	9189.2	SQ YD	\$8.00	\$73,513.60	\$5.75	\$7.25	\$6.33
84	XX009142	PAVEMENT MARKING REMOVAL (SPECIAL)	6408.9	SQ FT	\$1.00	\$6,408.90	\$0.25	\$0.35	\$0.30
85	XX206400	MAILBOX POST	5.0	EACH	\$150.00	\$750.00	\$60.00	\$500.00	\$211.67

Total \$3,949,694.33